fﬂ LeTion S

MAT 012 Practice TEST 1
Prof. Clayton Will not be collected, but will help you prepare for the test.
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You may want to use one of these: 4>+ B® =(4+ B)(A2 — AB+ B? )
A —B =(4-B)(4? + 4B+ B?)
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1. Simplify: 7a +12a—8—(6a =/ +8a—10) =3a"+12a —F-6a®, & =Ba 4+ e

s Y 2
= —Ca'+8a v 44 49
2. Factor out the greatest common factor:

S 4 2
122 —60x" ~28x°+4x° = 4% (3x = ISx ~ Fx+1)

3. Factor: 2x> —17x +21 4 2
_ (2x-1#)@x- 3) _ Zlx-%)(2x-3) A

2 - /Z 21 2

4z |

= (x-3)(2x-3) ¢

G
- 3 2
4. Factor: 5x°+40 = S (x +3) = S'(x +-23) use formatlea atove 7 Asx
B=2
= S (x+)(x*x2+22)

= S +2)(x=2x +4)

5. Factor: 4x* —8x> -5
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6. Solve: 3x*> +4x =4 X+2 =0 eor L, -2 =06
—-* -'H -2 —-Z . *.2 +_2 (2_
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2 X = 3 7 <
Z(x+2)(3x-72)
;;/ X:::—'Z- or k’:-EE.
(x+2)(3x -2) =o =
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